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Options :

485584158657. 1
485584158658. 2
485584158659. 3
485584158660. 4

Mathematics
Group Number : 18
Group Id : 485584899
Group Maximum Duration : 60
Group Minimum Duration : 60
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 200
Is this Group for Examiner? : No
Examiner permission : Cant View
Show Progress Bar? : No

Common

Section Id : 4855841041
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory

Number of Questions : 15 gcol Ieged un iag
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Number of Questions to be attempted : 15

Section Marks : 75

Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 4855842949
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 836 Question Id : 48558439281 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQI1

BEa=:0 1 &, D=0 b aikd AR = I3, whese Iy s dloe it vonwix of oeded 3 = 3, theo X + 1o equal 1o
0 g 1 1

e
| =)

4.1

Options :
485584157121. 1

485584157122.2
485584157123.3
485584157124. 4

Question Number : 836 Question Id : 48558439281 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key 'Value
Comprehension MCQ1
I 2 1 =T} T
Ofg a=(0 1 0l me0 | o FETAB =13, FEl L5, 3« 3 TS 1 5075 HIEE & Aly +y WETE:
T | T |
B 0
2.-1
. )
Options :

485584157121. 1

485584157122.2
485584157123.3
485584157124. 4

Question Number : 837 Question Id : 48558439282 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

[Key Value nia:
04
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|Luulp1 chension |lV1LQ T

L x| i 2 i
If A b and A = AL, then the value of x is :

ad
-

4.3
Options :

485584157125. 1
485584157126. 2
485584157127. 3
485584157128. 4

Question Number : 837 Question Id : 48558439282 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

|Kev |Value |
|C0mprehension |MCQ1 |

170 T“'ﬁ*rr.a-.ri.fiﬂﬁrmqﬁrn

—

T

Options :
485584157125. 1

485584157126. 2
485584157127. 3
485584157128. 4

Question Number : 838 Question Id : 48558439283 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQI
T l4+x
If v v 7 age different and A=[r + 1=+ =i, dhew s valee of 07 i
: ot
1.1
1851
- |
4.2
Options :
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485584157129. 1
485584157130. 2
485584157131.3
485584157132. 4

Question Number : 838 Question Id : 48558439283 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ1
l¢ I+
T 3, 3y 2 HEFT-HER BT T 4= 1= = 1t, Tz T AT B
l. - A |
e =f Era
1.1
v
3. -1
4.2
Options :

485584157129. 1
485584157130. 2
485584157131.3
485584157132. 4

1me 1me mnmimum

uestion q.umbe&.§3?hqlq§ﬁtlon IdN i 843928419sl%est1 ﬂme N{.CQ Option Shuffling : No Is Question Mandatory : No Calculator : None

esponse ruc lOIl

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
RCEY value
Compretension MCQt
[t the poits, €2, =31 (£ —1] and (0, 4] are eollinear; then the valwe of & 15
I
I, —
3
o |
- R
1]
1]
", e
Options :

485584157133. 1

485584157134.2
485584157135.3
485584157136. 4

Question Number : 839 Question Id : 48558439284 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCO1
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of fg (2. -3), (-1 T (0. Sy WEE ST Al s S HA 8
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-
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4

Options :
485584157133. 1
485584157134.2

485584157135.3
485584157136. 4

Question Number : 840 Question Id : 48558439285 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQI1

If p= o' L then Eﬁ_ s

al
|-|rl"'r|ln~,'Hi‘!'
2 [Ia-lll-.'l:-:
B0 10" [l 19
400" 1K (g 10}
Options :

485584157137. 1
485584157138. 2
485584157139. 3
485584157140. 4

Question Number : 840 Question Id : 48558439285 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ1
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afty = 10", @ dy
edy

.
L™ (lopln)

210" (1og10)

ERT 10 gz L]

4, 10" 10" (gl
Options :

485584157137. 1
485584157138. 2
485584157139. 3
485584157140. 4

gseS(t)ll(l)sne q,}lnl?g)e&.g%%lkeslt{&% Ing%éf I%ltlle'lsltcl?lon “& é I:V{)CQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQT

: ik ] e, :
Tlee tangent o the parabola, x= = 2y at dee point | 1, — | sakes with the v-axs an angle of
3

Options :

485584157141. 1
485584157142. 2
485584157143. 3
485584157144. 4

Question Number : 841 Question Id : 48558439286 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ1
T = 2y 0 fiig L= | e vt e S 3 7 g Pt i e €
o
L.
2. 4%
3, 30°
4. &0°

Options :
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4003041 J/141. 1

485584157142. 2
485584157143. 3
485584157144. 4

Question Number : 842 Question Id : 48558439287 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

'Value

Comprehension

MCQ1

3
The fanetion A1) =" x € E.has ;
1. Maxunom vahee at x =10

X A value at x =0

3, Medthes mAKImAL 07 i vl aty = 0

4. Maxmmoen value and ounEnenm value at o= 0

Options :

485584157145. 1
485584157146. 2
485584157147. 3

485584157148. 4

Correct Marks : 5 Wrong Marks : 1

n T;

epomee e e N At M APRR A TR R0

;ﬁ\g] é I_V{)CQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Question Key Details :
Key Value
Lomprehension MCUT

T jiri=, v e R F
1.x = 007 3i6Ean o= 8

O FEHAT O R

1
£
]

3, x = 0 07 71 dl Ages =1 # 09 ¢

fo
=
]

0 3% HegH d I dH 5F &

Options :
485584157145. 1
485584157146.2

485584157147.3
485584157148. 4

Question Number : 843 Question Id : 48558439288 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQt
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Ix+8 1sxsid &
| then i flx)is

If Flx)-
:I ||‘-.| doyad ]

Options :

485584157149. 1
485584157150. 2
485584157151. 3
485584157152. 4

Question Number : 843 Question Id : 48558439288 Question Type : MCQ Option Shuffling
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

: No Is Question Mandatory : No Calculator : None

IKey |Value

|u)mp1 chension |1V1LQ1

Uﬁ_-q.p |:'.|.":"_ | ':ﬁrIl{.'l:

| Ay Yoy
1.43
&40
I
4. 44

Options :
485584157149. 1
485584157150. 2

485584157151. 3
485584157152. 4

Question Number : 844 Question Id : 48558439289 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQI

The aven of the regron boumded by the lme 2y = 5y + 7, xepxis amd the lines v =1 pnd x = 3 15

1.1%

| ¥

e
R ]
4. 10

Options :

485584157153. 1
485584157154. 2
485584157155.3
485584157156. 4
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Question Number : 844 Question Id : 48558439289 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQI1

T 2y = v = 7, -8 TF T « =1 T x = 3 IR S5 9 dTFa 8

| O]
i
X

Options :

485584157153. 1
485584157154.2
485584157155.3

485584157156. 4

Question Number : 845 Question Id : 48558439290 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQI
The mtegrating factor of the differemtial equation |1+ v iy — (o~ y - x)dv = [, 18
1. tan™ |_|
g E"I'"I
3 —
1+ ¥
I
1. 7
ol =17

Options :
485584157157. 1

485584157158. 2
485584157159. 3
485584157160. 4

Question Number : 845 Question Id : 48558439290 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQI1
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WAEE THTTH (1 +17 1y — ftan™ by — iy = 0 5 TR 0TS o

1.t

2. f,luu

5 —
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Options :
485584157157 1
485584157158.2

485584157159. 3
485584157160. 4

Question Number : 846 Question Id : 48558439291 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ1

The order nndl the degree of the ditherential equation

oy .| a2
g L ey
reepitively ared

1. codey = I, degree = |

2oomder =1 degiee=2

a9

opder = [, degree =1

4. ooder = 1. degree =1

Options :

485584157161. 1
485584157162. 2
485584157163. 3
485584157164. 4

tlelseg(t)lr(l)sne q“llnnllebe'f\fg“lﬁh%lkes[q&% I%X%ﬁ%ﬁ%&’]%‘#ﬁﬁ%ﬁﬁgﬂ& é I:V{)CQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQT
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LR =29m=1

2. miit =2 "Wi=2

3 Fife = 1. g =2

4 FiE=1.90=1
Options :

485584157161. 1
485584157162. 2
485584157163. 3
485584157164. 4

Question Number : 847 Question Id : 48558439292 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQI1

Wihach of the following 15 comreci?
1. Every LPF adiniis an optimal schibon

2, Every LPF adimite a vngpue eclation

Fl
o

. The optimal valoe does not oeour at-a carmer print of Hie fensible regiom cuhy

4. Ifa LPP admits oprivsl solution ar twe pomie. than it lae optane] solution at infiate mnber of pents

Options :

485584157165. 1
485584157166. 2
485584157167.3

485584157168. 4
ggseg(t)lﬁ)sne lilllrtllebe&.gﬁh%llgs[tll&ne I%g%ﬁ%%%r%zl%%gﬁtclﬁggﬁ& ; I:V{)CQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQT
FEd AR WU g

L. Wl LPP U TEGH 50 HIT 9 6
2. Wl LPP o U Higa gw e #
5. B¥GH HIF T 49 & SR g 2 T g 2
4, T R0 LPP 1 3P0 90 o (agHl 9% o1, 1 399 AR g v gvan 90 5|
collegedunias
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Options :
485584157165. 1
485584157166. 2

485584157167. 3
485584157168. 4

Question Number : 848 Question Id : 48558439293 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQL1

The somer points of feasible region determumed by the systens of lmear constraimngs are (0, 33 (1, Vand (3, 0]
Let &= px + qvooddere p, q > 0. The eoaditicds on g and q o that, mundeom of £ sceurs

l.p=21q

L p=

b |

3. p=3g

4.p=4q
Options :
485584157169. 1

485584157170. 2
485584157171.3
485584157172. 4

Question Number : 848 Question Id : 48558439293 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ1

Tl e 43 F FEg Rl (0, 39, 1. 1 T i3, 0) T PR e & R SR 81 JE 2 =
px+qu @@ p, q > 01 p T8 o 7 98 W0 (e o (3, 07 a1, 1) W AFa 2 8. ¢ -

L. p=aq
i
a = 2
3 ]'.:_i._-l
d.p=q
Options :

485584157169. 1

485584157170. 2
485584157171.3
485584157172. 4

Question Number : 849 Question Id : 48558439294 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQI1

nia:
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Tlee mean of the munbers obeamed oo throwing adie baving wartten 1 oo three taces, I on two taces amd 5 on

I face i

e

=
haod | LD

Options :
485584157173. 1
485584157174.2

485584157175.3
485584157176. 4

Question Number : 849 Question Id : 48558439294 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQI1

el O e ot T O 0, ST 01 U9 2 39T | U1 09 5 o . @ Uhehe O W T o A B -

L1

ik | GO

Options :
485584157173. 1
485584157174. 2

485584157175.3
485584157176. 4

Question Number : 850 Question Id : 48558439295 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQI1
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ol 3 B 4 o 4 . |4 mi
If ™A Ia.Pu,]m ;.1:||.-:I..._.|-:| j.l‘JI-\.III_"‘ |+[I

* |

1% eqjual to

|

!.I
|~ e wil= &=

=
Pt

Options :
485584157177 1

485584157178. 2
485584157179. 3
485584157180. 4

Question Number : 850 Question Id : 48558439295 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQI

3 e = S = T . o =N
ufam..-m.ﬁa.-;am-n,m L = |+P E:EI'{'HT:E.

o

|.J.I | = e =

b
|~ =

—
]

Options :

485584157177. 1
485584157178. 2
485584157179. 3
485584157180. 4

Core Mathematics

Section Id : 4855841042

Section Number : 2

Section type : Online

Mandatory or Optional : Optional

Number of Questions : 35

Number of Questions to be attempted : 25

Section Marks : 125

Enable Mark as Answered Mark for Review and Clear Response : Yes

Maximum Instruction Time : 0

Sub-Section Number : 1 COI leged u n iag
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Sub-Section Id : 4855842950
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 851 Question Id : 48558439296 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

Therelation B mthe set A= (1.2, 3.4 s grven by Bo= Q00 20 (202000 UL G4 £ 0L 30 03030 03 20 s
l. Reflexive and sywmmebnc but not transitive

2. Beflzxive and traamitive Bt isst symoetric

3, Bymmetrie and trnsiiee bot not retlexrve

4.t equivalence relatica

Options :

485584157181. 1
485584157182.2
485584157183. 3
485584157184. 4

Question Number : 851 Question Id : 48558439296 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

IKev |Value

|Comprehensi0n |MCQ2

%H"-FIII.-‘-.::] 234 T HEY R = (i1 2, (2, 20 10 (4 80 (L 30 (390, 60, 2)) ERT R B, T T B

|, T4 Ud THHE T ST A5

2. T U T A A el

3. Tl U8 Herd Ty Sged el
4, el

Options :
485584157181. 1

485584157182. 2
485584157183.3
485584157184. 4

Question Number : 852 Question Id : 48558439297 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2
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IEfix) = 275 and gr [ x )= [ ]2 then zof(x)is

Options :

485584157185. 1
485584157186. 2
485584157187. 3
485584157188. 4

Question Number : 852 Question Id : 48558439297 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ2

TR ot =27 @ g () = ( 2)2, T zofin) ©

Options :

485584157185. 1
485584157186. 2
485584157187. 3
485584157188. 4

Question Number : 853 Question Id : 48558439298 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
|Kev |Value
IComDrehension IMCOZ |
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Principal vahse of ten ' | -\.-E| i tan 1] s

T
| It
12
Fra
5
4
T
il
12
i
id—
2
Options :

485584157189. 1
485584157190. 2
485584157191. 3

485584157192. 4

Rgsegtt)ll(l)sne }llglebelN.Xsﬁh%llfﬁtf&ne I%i%éﬁ%?%&{ﬁ%%%lﬁﬁ%&g}ﬂ& é I:V{)CQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQZ

tan {3 )+ ma 1) T TH AR T

x
|

12

d

x
4

-

F=—
[2

T
g
Options :

485584157189.
485584157190.

485584157191.
485584157192.

W N =

Rgsestt)ll(l)sne %lng)e&.ﬁslélh%llfs[t{&% I%gsgﬁ%%%%{%%%l#slsltclgggﬂ& é I:V{)CQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQZ
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)
Tlhe pl'.u-:'ll}u'i vizhie of gin ' . i4

Options :

485584157193.
485584157194
485584157195.
485584157196.

AW N~

Question Number : 854 Question Id : 48558439299 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key 'Value
Comprehension MCQ2

sin |~ |1 R A R

o |

|

T8
L

Options :
485584157193.
485584157194

485584157195.
485584157196.

W N o=

gseﬁ(t)lr(l)sr:a lilﬁ'rﬁ‘ebef\rﬁslsh%'i?ﬁtf&% I%Xﬁéﬁ%ﬁ?&"&‘%ﬁﬁ%‘%fﬁ& ; l:\/{)CQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQZ
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If & 15 an mveriible mamre such that A~ — A + [ =0, then the orerse of A s

-

N

A0
1A

Options :
485584157197. 1
485584157198. 2

485584157199. 3
485584157200. 4

2 1A where 1 s an idestiny ooatrin of seder 2

Question Number : 855 Question Id : 48558439300 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

vamue

Comprehension

MCQ2

O3 A T Sl i e U IR e T A% A+ 1 =0 AT TFT &

LA™

b

i

4. 4

Options :
485584157197. 1
485584157198. 2

485584157199. 3
485584157200. 4

I-.-x.m'ﬁf]aﬁﬁ;mam-mwﬂs%

Question Number : 856 Question Id : 48558439301 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ2
i CTTIR L1
The detérommant |- sinl - -x 1 [is
| et | ¥ |
1. medependent of § anly
2, tpdependent of ¥ only
3. melependent of both & and x
1. mdependent of x but nat of
Options :

485584157201. 1
485584157202. 2

485584157203. 3
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485584157204. 4

Question Number : 856 Question Id : 48558439301 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : S Wrong Marks : 1

Question Key Details :

|Key |Value |
|Luulp1cnensi0n |N1LQZ |
: ¥ sind  gosi
ORI | tn0 x| [EF
ot ] K
1, FeT 6 ¥ WA
2, 5 « H

56T « SH 3 i

4, J 509 g o 9 Tl

Options :

485584157201. 1
485584157202. 2
485584157203. 3
485584157204. 4

Ruestion qumbg&:gsl?h%ligsltion I%_iﬁéﬁ8439302l%l%esti?n Tﬂ’& é I:V{)CQ Option Shuffling : No Is Question Mandatory : No Calculator : None

esponse 11me : me : nimum ruction

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ2Z

0 & &
The valne of k tox which the matnx| 2 o

5 B

13 & SYTHMENNE Malrx 15 2iven by

Options :
485584157205. 1

485584157206. 2
485584157207. 3
485584157208. 4

Question Number : 857 Question Id : 48558439302 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ2
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x & P9 oM & o amegm ]

| &

[}

4.1

Options :
485584157205. 1
485584157206. 2

485584157207. 3
485584157208. 4

o s I HOfE S g

Question Number : 858 Question Id : 48558439303 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

The value of & for which the nuarrsx | 0

Options :
485584157209. 1
485584157210. 2

485584157211. 3
485584157212. 4

0| is & singular manx s

Question Number : 858 Question Id : 48558439303 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ2

I B4
A o filrer P e o | 0 0 o | s g @

1.0

Options :
485584157209. 1

% collegedunias

India’s largest Student Review Platform



485584157210. 2
485584157211. 3
485584157212. 4

Question Number : 859 Question Id : 48558439304 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

|Kev |Value

|C0mprehensi0n |MCQ2

[t the ordler of amatms A s 2 = 3, the order of mains B i=.3 = 4 nnd the ooder of mabnx © 15 3 = 4, then the
eader of the matrex (AB).CT i

I 3

L

Sk ik
3. 304
&%

Options :
485584157213. 1
485584157214.2

485584157215. 3
485584157216. 4

Question Number : 859 Question Id : 48558439304 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : S Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ2

Uf UFEE A T B 2 « 38 WTE B F FIE 3+ 4 AU WWIE C B &2 3 4 B AapcT HFR

[ F

progic B

.35 4

4 4=3
Options :

485584157213. 1

485584157214.2
485584157215.3
485584157216. 4

Question Number : 860 Question Id : 48558439305 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2
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I+ W+I I+ |.|
The value of the derenmanr | = a ¥ |
| | |

Options :

485584157217. 1
485584157218.2
485584157219. 3
485584157220. 4

Question Number : 860 Question Id : 48558439305 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

IKev |Value I
|C0mprehensi0n |MCQZ |
t+% ¥+ 2+
AR | = X v |FHEE
1 | |

| |

]

1.4

4.-1
Options :

485584157217. 1
485584157218. 2
485584157219. 3

485584157220. 4
Rgses(t)ll(l)s% }lﬁlllebsﬁigﬁllh%ll(es[q&% I%Z%ﬁ%‘fﬁ%%%‘%ﬁﬁ%ﬁ'égﬂ& ; I:V{)CQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Vatue
Compretension MCQ
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Wintcl Lise T with List 11

LI5T 1 LIST I
{Fumetions) (Dheriyaties]
|
A s 1 —, TR
1 —_.l"
B. [fivi= oty I |2~
gl
C E.'-:_r-'c-:hs".'.' 11T e, [ <] 1)
o] _
|
D e ot ™ |- e ae R
+ "

Choose the comect answer from the options given beloas
[, A-TEL B-1, O-10, DIV
<. A=, B=IW, C-[1L D=1
i, AL Bl CLITL, DT
4. A-L B-ILC-IT0 -1V

Options :
485584157221. 1

485584157222.2
485584157223. 3
485584157224. 4

Question Number : 861 Question Id : 48558439306 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ2
It 1 gl 1 e e
Sl w0
okl | )
A i ety 1 o
|—l il
B it ls I "_'IN—I__*- T |-L,1)
C i cosy i t e ad ]
1
D (e cor's IV = &R
£y
Frtint famreat o < Tt S O == e

I AT B-1 O-I0, DTV
X, Anl BelW, Ca[1L D=11
AL B[ CHITL D-IW

4. A-L B-If. C-IIL T-IV

Options :
485584157221. 1
485584157222. 2

485584157223.3
485584157224. 4

-

-
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Question Number : 862 Question Id : 48558439307 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ2

H‘ L= |:|. '-'il'.'| 15 BI.'-_I:-\.I ‘;.'I.'-I|I=I¢ ,-'l| .-|||-c| E ATE SOIIETHR, "|jt|| "I-'r 1K :.|I|’|-: | L]
™

Options :

485584157225 1
485584157226.2
485584157227. 3

485584157228. 4

ﬂgfg(t)lr?sl}a ?rrrlnebe'f\l'gélzh%lifs[q&% IdNX%ﬁ%ﬁ%r?ﬁ%‘%%%&%Jﬁ& é I:V{)CQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Vatue
Compretension MCQ2

TR 3= Asiar + Booar. Tl A 4T B 1 & §1 4 Y waard
..I'1'

a
i

4 —x

Options :
485584157225. 1

485584157226. 2
485584157227.3
485584157228. 4

Question Number : 863 Question Id : 48558439308 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ2
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[ | —eosdx

, x#4
It f{e)=1 T
k, x=10
1.8
R ]
24
Options :

485584157229. 1
485584157230. 2
485584157231.3

485584157232. 4
guestion
esponse

Correct Marks : 5 Wrong Marks : 1

15 contirnious ot x = [ then the value of k is:

ygge&.gﬁg&es{t‘]&% I%g%éﬁ%ﬁg?&%%%lqls‘tclgggﬁ& é I:V{)CQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Question Key Details :
Key Value
Lmupwuension MCQZ
| 1-cosdx o
| = XF = - s Lo =]
o i(s)={ ¢ = 0 0% Tl 2. A ke 1 1A 7
i, =0
1.8
3 &
4.4
Options :

485584157229. 1
485584157230. 2
485584157231.3
485584157232. 4

Question Number : 864 Question Id : 48558439309 Question Type : MCQ Option Shuffling
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

: No Is Question Mandatory : No Calculator : None

Key

Value

Comprehension

MCQ2

Thee slope of the pommal to the curve v =2x" = Jsy at x =

1.3

[

% collegedunias
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vpuons :

485584157233. 1
485584157234.2
485584157235.3
485584157236. 4

Question Number : 864 Question Id : 48558439309 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
|Kev |Value |

Comprehension MCQ2
| | |

oy =l'|— + _:'-:il'l.'l'ﬁh_':l'-ﬁ = Eh'TIIT‘F-ﬂﬁT%'

-

0
3.
4
B
1
Options :

485584157233. 1
485584157234.2
485584157235.3
485584157236. 4

gseg(t)ll(l)& qylhng)e&.gﬁlsh%qgsltf&ne I"Iw‘ﬂéﬁ%?ﬁ%ﬁ“r%‘%ﬁﬁ%ﬁggﬂ& ; I:V{)CQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Vatue
Compretension MCQ

. - . KSMi4+2eost , - : -
If the fimetion f| 1)< —————— iz mereasing for all values of x, then
&N I+ <05k

4.l

Options :

485584157237. 1
485584157238. 2
485584157239.3
485584157240. 4

Question Number : 865 Question Id : 48558439310 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2
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Tl E f(r)- ASNLt 200 o o adoe A

&N 5 4 C0% &
[.k=]
4 1=k
3.k>1
4. = d
Options :

485584157237. 1
485584157238. 2
485584157239.3
485584157240. 4

Question Number : 866 Question Id : 48558439311 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
|Kev |Value I
|Comprehension |MCQ2 |

For fencing of flower bed with 10 em long wire m the forn of ciroular sector, the maximumm area of the
tlaver Teed 15

L. 1000 emy

L2
| =)
| )
B
My
b
=
]

4. 500 cma”

Options :
485584157241. 1

485584157242. 2
485584157243. 3
485584157244. 4

Question Number : 866 Question Id : 48558439311 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ2

T o & i = e & w0 H O o o0 6 o AW 2 e 2 O B & aiE
sifian 8 &

L. 1000 T
1, 228w
3, 625 FHI
4. 500 FH

Options :
485584157241. 1 .
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485584157242. 2
485584157243. 3

485584157244. 4

Question Number : 867 Question Id : 48558439312 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

|Key

[Value |
|CUlllp1U‘llcllbi0n |1V1CQL I
Wiatcly List T with List 11
LIST 1 LI51 I
; Fin= x I S |
-'1|- . S - If'l' = i 2
[} I 1
ﬂl‘l' T o Ok = §
T oxsinx
B I—, iy I fa
pl4cos™x
=
T i 5
e j xcosy dx . |
i
‘.l 3
' V. X
18] Jﬁm Xl 1
-3 4

Clwose the correct answer from the oplions goven below:

I

¥

A-TIL B-TWV, C-I1, -1

el BV, C-[1. T3-111

3.A-L B-IE CAITE B[
4, A-IV B-THI, C-10, D=
Options :

485584157245. 1

485584157246. 2
485584157247. 3
485584157248. 4

Question Number : 867 Question Id : 48558439312 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ2
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Tall

= g 11 H e i

Gl AT I
2 I:1|-|E K T ]
"Tuin-' [ poss
T orsiny
B _[—ﬂ:inr i o
nl+eos™x
{ T
C J- TC0s x dx m .|
_.-'I'
- F
o ‘l‘ziin'?.r.:i'r v T
= 4
Frforfa famet & < | S aw == 9fifen .

X,

Options :

AL B-TV, C-I1, -1

2. Al BalW. Cal1 Ta111

i, A= BAILL CAITE DIV

A=V, B-III. C-IT, T3]

485584157245. 1
485584157246. 2

485584157247. 3
485584157248. 4

Question Number : 868 Question Id : 48558439313 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ2

The aren of the region bownded by [x{+ W= 1, x 20,1 > Dis

[

Bl | = | ==

Options :

[ T

d= | 1

485584157249. 1
485584157250. 2
485584157251. 3
485584157252. 4

collegedunias

India’s largest Student Review Platform



Question Number : 868 Question Id : 48558439313 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ2

= b= Lovs 0,y 0 8 ToR B 67 et 3

N
b | -

Pod |

...
P | Lk

I | Lak

Options :
485584157249. 1

485584157250. 2
485584157251.3
485584157252. 4

Question Number : 869 Question Id : 48558439314 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ2

The area of the segion boundad by the carve
ecual to

(B 1]

[y lactoes
L)
2452

o

114
L]
el ]
iy
Options :
485584157253 1

485584157254. 2
485584157255.3

485584157256. 4

Eponse Yo AR ian N ARR R
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

+ 10 . = and bemwecnhe s x=—d and x =215

le_:lsltcl lgl;l‘%)l% i I:V{)CQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Key Value

Compretension MCQ

nia:
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TF - S ih . - AT T g =3 T x =2 B A S T &9 & -

11
kE—
H
252
d
[
R
3
Y
|26
3
0
Options :

485584157253. 1
485584157254. 2
485584157255. 3

485584157256. 4

Question Number : 870 Question Id : 48558439315 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ2Z
= ok |-ginx , .
The vahee of the integral I—' & da
COs™ X

1. secx — tany + O Where € 15 an arbatrary constant.

2 taiky —seey + O Where © ie an arbatrany constand

%, secy tanx — O, Where C 15 an arhitrary constans,

4.t + seey = O, Where C 15 an avbitrary consiang,
Options :

485584157257. 1
485584157258. 2

485584157259.3
485584157260. 4

Question Number : 870 Question Id : 48558439315 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprenension MCQ2

% collegedunias

India’s largest Student Review Platform



— 8N x

E'Hﬁfﬂﬂ-r]—*;.{rﬂﬂm-_-.%‘.

CO8” N

1, seci — famy + €, FE1 C T W15 T B

It

.ty — sece + O, FB1 O T WEY T B

.i.m.ttdm—f.ﬁ!ﬂt'ﬁﬁﬁﬂﬁ??l

4. tany + e+ C. TN © UF ¥ YT 5

Options :

485584157257. 1
485584157258. 2
485584157259. 3
485584157260. 4

Question Number : 871 Question Id : 48558439316 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

[L(ev |Value I
|C0mprehensi0n |MCQ2 |
Mloteh List T with List 11
LIST 1 LIt 1
[Cafferenmnal squaned
1
A Tk [ oate I forder 2, dagree
At S sl Lo =y
Fri Iu:!': J
]
iy x*
O e e II. forder 2, degree nec defined
a1 [
ye(l1+x)2
d* v . g
L. | === gsdx + 5in 3y M1 forder 2, degree 4
L
a= * .
D | =4 -2“:" rl'--l.:-l.'!':'rI IV, forder 1, degree 2
" Lt | ¥ r

Choose the comect nnswer ffom the opitons given beloa:

I A-T, B-II. C-I0, BTV
= A, B=TV, C-1, I-11
1AL B-I1L CaIW, Tl

4. A-TI, B-1, C-T1 DTV

Options :
485584157261. 1
485584157262.2

485584157263. 3
485584157264. 4

Question Number : 871 Question Id : 48558439316 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2
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Tt 1 g 1 o e

A1

AT 11

HITY HEHEET
i %
Al e [ 0 L RfE 2, At
IT..E. TR
I
iy x* _ _
s —F 1 I 2, ST S
el 5
y2 {1+ x)3
" p . i
C —:=|.'|551-.'r-!~u|3-: il = 7 |
I
p (4L, | 2] | R
r.I:1' £LT LAdly )

Temtirfie famrent of % et v = i -

. A-T B-ILL OO0, I-TW
2. A-IEL B-IW, C-L D=1l
3oAJL BT C-IW, D
4. A-I, B-1. C-I1 D-TV

Options :

485584157261. 1
485584157262. 2
485584157263. 3
485584157264. 4

uestion q,umbpﬁﬁilzhg&es[tli&% %%.3%84393171%1%%&&3”& é I:V{)CQ Option Shuffling : No Is Question Mandatory : No Calculator : None

esponse 11me :

Correct Marks : 5 Wrong Marks : 1

nimum ruc

Question Key Details :
Key Value
Comprehension MCQZ

The general solution of the differential equation valy — yaly = 0 represants ;

1. a rectangulnr hyperbola

2, paradola whise vertex 14 &t origsi

3, straizht Line passing throwgh onein,

4. n civele wleese cetmer 18 af o,

Options :
485584157265. 1
485584157266. 2

485584157267. 3
485584157268. 4

Question Number : 872 Question Id : 48558439317 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ2
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HAEE THIE vy — vabe = 0 T S0 56 F=ita 4 e
| O MR MR
2. ey fen =it o filg T g

i O g A e )

4. 106 el Fore e o g W B

Laa

Options :
485584157265. 1

485584157266. 2
485584157267. 3
485584157268. 4

Question Number : 873 Question Id : 48558439318 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ2

The vestors 37 — 4 2620 4 4 34k and | 4 "’.I' | are coplanar if k is:

Fi—2

4. amy real pumber

Options :

485584157269. 1
485584157270. 2
485584157271.3
485584157272. 4

Question Number : 873 Question Id : 48558439318 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

Ry _ joafais j+ ] 4 2]k IR T TS

4, FIE ATaS dEm

Options :
485584157269. 1
485584157270. 2

485584157271. 3 .
485584157272 4 collegedunlas
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RgseS(t)ll(l)sne }'n‘{‘é’e&’ﬁzﬂh%‘lfitf&% I%gﬁéﬁ%&%’}}flgﬁl@lﬁt&g&?ﬂ& é I:V{)CQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Lomprehension MCU.Z

ARCD 15 0 thombus, whose dizgonals intersect at E. Then EA-+EB= EC+ |'lj‘eq|.1.1l'.- b

Lo

L AD

& 2BC
4.2AD

Options :

485584157273. 1
485584157274.2
485584157275. 3

485584157276. 4
Question Number : 874 Question Id : 48558439319 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

|Key |Value

Ibuulpl chension |Mbuz

ARCD T TG & R il 1or S W E IR e d . @ EA + EB = EC + ED TR 2
Lo

L AD

& 2BC

4.2AD
Options :

485584157273. 1
485584157274. 2
485584157275.3
485584157276. 4

Question Number : 875 Question Id : 48558439320 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key 'Value

Comprehension MCQ2
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The angle a1 which the normal to the plage 4% ~ §v +z =7 15 mehned to y-nxs 15 ;

f ._I_ Y
1.oos I
| Ep
: i 1]
- (X156 —J
L9
L
.00 | —
LG
I [
4. 005 —
L9
Options :
485584157277. 1
485584157278.2
485584157279. 3
485584157280. 4

Question Number : 875 Question Id : 48558439320 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ2

0% D10 RS HHAE dx + 8y + =7 T HTHTT 3-8 T FHELL 5 -

L. cos

2. 008

3 cos

4. cos

Options :
485584157277.
485584157278.

485584157279.
485584157280.
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Question Number : 876 Question Id : 48558439321 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ2

% collegedunias

India’s largest Student Review Platform



[t ench side of a cube 15 7. then the angle between the dinzonals of the cube 15

L]
=
i | =

it
¥

Options :

485584157281.
485584157282.
485584157283.

485584157284.

AW —

gseS(t)ll(l)sne %?nl?ebe&',gzlﬁhgﬂfﬁ&% I%g%éﬁ%?%‘)ﬁ%ll%%@lsltclgggﬂ& ; I:V{)CQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQZ

Tl 5 U o« B F R & fe e

Loegs | —
I3 |
b '\l." i
NS
X cos |
3]
-. i |
J.Eil il |
R,
4. coet| -2 |
Options :

485584157281. 1
485584157282. 2
485584157283. 3
485584157284. 4

Question Number : 877 Question Id : 48558439322 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ2
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Whach of the following stabernents 15 fre”

A I the feamible segion for a LEP s unbounded, nsaxinnmy ar mendmuen of the objective functsn £ =ax +
b may or anay i cxst.

B Mlanmnm value of the abjective function £ = ax + by a LPP abvays cooms at only one cormer pont of
tlee femsible region

C. Ina LPE the manmman valee of the ohyective functicos Z = mx + by {a. b = 0} 15 alwenes 008 ongio is one
of the comer poduts of Feasible region.

D. In o LPP the max value of the objective fimction 2 = ax — by 1s always finabe,

Choese the eormest snswer fromn the optione given below
1. B, Cand D only
2 Aam Conly
3. A, Band C only

4. C nod DY coaly

Options :
485584157285. 1
485584157286. 2

485584157287. 3
485584157288. 4

Question Number : 877 Question Id : 48558439322 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2
9 @ 19 W S T e
A, T Bt PP o GHIE A9 MO B O T T 2 = s - O HTa 1 s e S |
AR C e i RN ET R A B

B. SEE WA 2= sx + by 3 HTUTEH A G 8= 3w w Wi i o s i
¢, Tl LPp ¥ T80 W 2 = ax + by (a, b 0 31 G0 5 €L B, 07 A A UF 00 FE )
D. flt Lee O SR ST 2 - ax — by T MHiEERTn O ol g g

T AT e A B a9 o T TR
1L A0 B, C AUl D
2. ¥ A SR G
3 WOU A BRAWC
4. FaE C T D
Options :
485584157285. 1

485584157286. 2
485584157287.3

485584157288. 4
gseg(t)lltl)sne l}lllilllrtllebe&. X‘llshgﬂ(esltllglne IdN ﬂéﬁ%‘l’ﬁ?ﬁf’lﬁ’s‘%ﬁﬁ‘c‘ﬁﬁﬁ?& é I:V{)CQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
|ney value
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IComDreheneion

IMCQ2

The comer points of the teasible region detenmined by the system of hnear mequalihes ere (0, 0, (4. 00,02, 4)
Ao (0, 57, 1t the maxumum valve of £ = ne + bpeowhere 5, b > 0 ocenrs at both (2. 40 and {4, 0 then

l.n=2b

. 2a=h

3.a=h

(B

n=h

Options :
485584157289. 1

485584157290. 2
485584157291. 3
485584157292. 4

Question Number : 878 Question Id : 48558439323 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

value

Comprehension

MCQ2

Terlh ey A & T A 00, 0), ¢4, o0, (2, 4 W o, 5) 30 Pl YEe il & Fram g i
T T0E 2= ax + by TR 0. b= 0 0 Tigeee T 1 gt 2 gy o g0, oy e R B

La=1h

2.2a=h

4. 3a=h

Options :
485584157289. 1

485584157290. 2
485584157291.3
485584157292. 4

Question Number : 879 Question Id : 48558439324 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ2
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Ina box consisting 100 bulbs, 10 are defective. The probabilsty that out of a sample of 5 bulbs, nome 15
defective &

1. eo!

i
| =
S

Options :
485584157293. 1
485584157294. 2

485584157295.3
485584157296. 4

Question Number : 879 Question Id : 48558439324 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Vatue

Comprehension MCQ2

U a8 100 &ea 8, Tord 1o oo B0 8. il 5 wedl & Ul 09 o des & @0 A e
R
L1071

§

3)

14

L1
4| —
(L1

Options :
485584157293. 1
485584157294. 2

485584157295. 3
485584157296. 4

Question Number : 880 Question Id : 48558439325 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ2
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Wihich of the following are not the probability distribution of a random variahle 7

n &} 1 a
A Py 04 o4 .z
S - NEE - EN
ORI Gd | od | &2 -0t pRs
I =1 1] I
C v [ 56 [ o1 | 02
fra S r L a -1
C».
By |03 (02 (0] o1 0
x ] 1 2
110
E X Lurlcd e l
3% | 36 | 3F

Chocse the correct mewer foom the optiaps given below;

1. Aand E cnly

= B, Caod B cnly

3.A, Dand E only

4. C Aad Tronly

Options :

485584157297. 1
485584157298. 2
485584157299. 3
485584157300. 4

Question Number : 880 Question Id : 48558439325 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

ion Key Details :

Key

|Value

|L,Ulllpl ehension

McQz
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e & Fow Oe=s 99 o Wit aee ARl e

X 4] L 2
A PiX) 0.4 [LE o2
sl X [O0J1]213[3
’ By 04 | Gd | 02 —'\.'IJFI!
T -1 1] I
“I o 196 [ o1 [ 92
E 3 T 1 o =
0.
[Pz |03 020401 ] 005
N i | 2
E ; 5 10 |1
g | = | = | =
Ly 6 1 36 |
A il foreret & & Wl om0
L WO ATUTE

2 FAA B, COND
3 PO A DAYE

4 FAUC AT D

Options :

485584157297. 1
485584157298. 2
485584157299. 3

485584157300. 4

Sub-Section Number : 2
Sub-Section Id : 4855842951
Question Shuffling Allowed : No

Is Section Default? : null

Question Number : 881 Question Id : 48558439326 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

uestion Key Details :
Key |Value |

|L()1up1 chension |L0mp T |

Set A luas 4 elements and the set B has 6 elements, then the number of mjectnre mappings that can be defined
from A o B s

1. 360
.13
3.4

4. 1294

Options :

485584157301. 1
485584157302. 2
485584157303. 3

485584157304. 4
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Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Vatue
Compreternsion Compt

W= 4§ 4 4004 & S BE=T0 B F 6 HTHT £ 1 A ¥ B F I Ot thE | uhfE & gEn e

4. 1206

Options :

485584157301. 1
485584157302. 2
485584157303. 3
485584157304. 4

Question Number : 882 Question Id : 48558439327 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Compl
The mmamum vabee of the tuncton y = 2 —x—3 15

L.

| )
o

4.5

Options :

485584157305. 1
485584157306. 2
485584157307. 3
485584157308. 4

Question Number : 882 Question Id : 48558439327 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

Compl

Tl v =1 - lr— 3 T HHEaH g 8

L0

4.5

Options :
485584157305. 1
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485584157306. 2
485584157307. 3
485584157308. 4

Question Number : 883 Question Id : 48558439328 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
|Kev |Value
IComnrehemion IComnl |

[x =21 le=ts TRLuE nl'ﬁ atil.1%is

Ly

If =

bdi |

-
=

50| —

L]

—

Options :

485584157309. 1
485584157310. 2
485584157311. 3
485584157312. 4

Question Number : 883 Question Id : 48558439328 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension Compl

Ol = =4, L1 W E a3
. o

I-di| =

W
-
o=

o B

4.1

Options :
485584157309. 1
485584157310. 2

485584157311. 3
485584157312. 4

Question Number : 884 Question Id : 48558439329 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension Compl

nia:
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[f ;7 nnd { are hvo now zero vectars such thal |:|| = IL'I.H =2 and 5.5 =12, then valae of r=h|is

1.3
2. 10
314
4. 16

Options :

485584157313. 1
485584157314.2
485584157315.3
485584157316. 4

Question Number : 884 Question Id : 48558439329 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
| | |
|C0mprehensi0n |C0mp1 |

o ; U § o1 SN i g aE T |- 10, [ - 2 3 5. 12, T o B F A E:

i
i

4.14

Options :
485584157313. 1
485584157314.2

485584157315.3
485584157316. 4

Question Number : 885 Question Id : 48558439330 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl

The dirsction cosines of 8 lme which makes equal angles with the co-ordinate ages 15 are

1.1.1.1

4484545
Options :

485584157317. 1
485584157318. 2
485584157319. 3 .
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48308413/520. 4

Buestlon }'Iﬁ‘é’e&‘ﬁslsh%‘lﬁtf&% {%'iﬁéﬁgél}gl%g]ﬂl%gestmn Tgﬁ)& ; I:V{)CQ Option Shuffling : No Is Question Mandatory : No Calculator : None

esponse ruction

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compt

T = FEiE AT & Oy weE S aE B F RS

1.1,1:1
;=1 ~1
v di
Y T R

Options :

485584157317. 1
485584157318. 2
485584157319. 3
485584157320. 4

Applied Mathematics
Section Id : 4855841043
Section Number : 3
Section type : Online
Mandatory or Optional : Optional
Number of Questions : 35
Number of Questions to be attempted : 25
Section Marks : 125
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 4855842952
Question Shuffling Allowed : Yes
Is Section Default? : null

Ruestlon umbpﬁﬁ%ﬁﬂgs{t}on I%.Xﬁéﬁ843933ll%l%estlggg¥¥& é I:V{)CQ Option Shuffling : No Is Question Mandatory : No Calculator : None

esponse 11me : me : nimum ruc

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Compr chension MCQ5

Vahie of 2Y(med 15k i

Options :
485584157321. 1

485584157322. 2
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485584157323.3
485584157324. 4

Question Number : 886 Question Id : 48558439331 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ3

AT 15 T EA

Options :

485584157321. 1
485584157322.2
485584157323.3

485584157324. 4
gseg(t)ll(l)sne q“l’nr{lebef\fgsﬂh%ligsﬁ&% I‘ﬁvﬁ.ﬁéﬁ%‘fﬁ%&ﬁ%‘%ﬁﬁ? 121?*?1% é I:V{)CQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Vatue
Compretension MCEQ3

A retarier hes 500 ke of wheat, a part of whach he selis ot 10%% loss and the remonung ot a profit of 8%
Crveall, lie makes a profst of 66, the quanhty seld 81 profut =

1. 100 kg
2 450 kg
3, 600 ke
4. 800 kg

Options :
485584157325. 1

485584157326. 2
485584157327. 3
485584157328. 4

Question Number : 887 Question Id : 48558439332 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3
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T AT 3 T oo e i 2. T 5 4 8 1% B 51 T 900 8 91 09 H1 e
R 39 £ 1 59 W A P 6% B1 61 SHHIAT & A oM 08 S e T

I, 100 fRETaH
2, 450 Rt
3. so0 e
4. oo feFemmE

Options :

485584157325. 1
485584157326. 2
485584157327.3
485584157328. 4

Question Number : 888 Question Id : 48558439333 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ3

A tank cam be filled by two pipes A and B m 18 mumutes and 24 mimstes pespectively, Anatlver tap C can smpty
the full tank in 36 pomtes. I the tap C 15 opened 6 minses atter the prpes A and B ars opensd. the tank wall
bewomie full i op total of

L. Smmutes
4. 12 muistes
3, 18 mimaies

-I-. 3!5 I:I.'liI.Ll.1| Eh

Options :

485584157329. 1
485584157330. 2
485584157331.3
485584157332. 4

Question Number : 888 Question Id : 48558439333 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

|Question Key Details :
Key |Value |

|Comprehension |MCQ3 |

UF 33 F13 0T AT B F09: 15 92 00 24 e 3 on B0 &1 U 30 A9 o T 28 # as e
o aredt &% wwa g afE 79 o F o A e & SR ¥ s e 515w T § @ 9w ga et a
o IUieT 1
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vpuons :

485584157329. 1
485584157330. 2
485584157331.3
485584157332. 4

Question Number : 889 Question Id : 48558439334 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3

The matie of speeds of 8 modor boat and that of comrent of water 15 35:6, The bont goes agamst the comenk o 6
houre 5 muwres. The tune taken by boat fo come hack 15

L. 4 hours 50 mimtes

5
-

« 5 v

L

5 hogiars 40 mmamiries

4. & hours 50 mamries

Options :

485584157333. 1
485584157334.2
485584157335. 3
485584157336. 4

Question Number : 889 Question Id : 48558439334 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

|Qj;§§tign Key Details :
Key

|Val]Le

|Comprehension
[

IMCO3

U HI2T 19 741 €1 1 =1 F A0 356 2 | 75 4 & Rl s ©2 so e g e 8. A gd arng

T T T T
1. 4 921 sn e
1, 5 °E
3. 5 EeT40 e
4.6 91 50 fiee

Options :

485584157333. 1
485584157334. 2
485584157335. 3

485584157336. 4

Regom Yo AnRuesione AN AR o ot

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

estion
ruction

; [V{)CQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Key

value

Comprehension

MTQ3
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13,560,000, T4.20.000 and 74.80.000 were invested by three frends A. B and T respectively in a busmess. Tf
(%], the share of B's profit is:

T Yk

they eamed a net profit of 72,10,
L. F40.000
Z. TEO.O00
375,000
4, FT0,000

Options :
485584157337. 1

485584157338. 2
485584157339.3
485584157340. 4

Question Number : 890 Question Id : 48558439335 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3

o1 ol &, BT ¢ TR Tt ST S 33,60,000. 34,20,000 T £4.80,000 0 FEW i ) oty
TR E2,10,000 T 0T T A e o v F B ot s

I, =a0,000

2 FR0000

[

CETEDOD
&, 270,000

Options :

485584157337. 1
485584157338. 2
485584157339.3
485584157340. 4

Question Number : 891 Question Id : 48558439336 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ3

The safufzon set of mequalitees ;

r+iciand Iy +3<(:ifx cRis:

t.(—=. -3}

24 O LIEL )

e |

RS R A
Options :

485584157341. 1

collegedunias

India’s largest Student Review Platform



485584157342. 2
485584157343.3
485584157344. 4

Question Number : 891 Question Id : 48558439336 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
IKev |Value |
IComprehension |MCQ3 I

v+ 1< OTU 2 = § <0 U8« £ B T dd FY= o

1.{-m.—1]
2§ -5 . -3]
3, =20 —,":]

£
=
T4
I
B
|
=
=
o

Options :

485584157341.
485584157342.
485584157343.

485584157344.

BN W N =

gseg(t)ll(l)sne qwrrllg)e&.lg%%llgs[tf&% I%X%éﬁ%?%%rﬁl%‘%ﬁﬁtcl ll‘}l;l‘g{.?ren é I:V{)CQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Vatue
Compreternsion MCQ3

IfA s & eymunetsie maned and o € N deew A™ is
1. Symmietne mminx
2. Skew Symmeteie mtrix
3. A diagonal mainx
i. 2era matrm

Options :
485584157345. 1
485584157346. 2

485584157347.3
485584157348. 4

Question Number : 892 Question Id : 48558439337 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Vatue

Comprehension MCQ3
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Tl A e HATHG HIoE € Tin & N, §1 4% §F7
1. T M=

I-J

BGER:
4. ¥4 He

Options :

485584157345. 1
485584157346. 2
485584157347. 3

485584157348. 4
Rgggf)lfl)slia }lllrrxlebef\l'ggﬁh%lkes[tll&% I%ﬂéﬁ%ﬁ%ﬁﬁ%‘%ﬁﬁ%ﬁ&?ﬁ& ; I:V{)CQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Compr chension MUTQ35

h] 41 3

If the traswpoees of matrnx A 15 nanine B, where & =| & (mndF=|1 2 6then the vabie of 30+ 2+ 42

o K

1] a 3 N0

Options :

485584157349. 1
485584157350. 2
485584157351. 3
485584157352 4

Question Number : 893 Question Id : 48558439338 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

|Kev |Value I
Comprehension MCQ3

| | |

% collegedunias
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5 | XA} R
ufg ey A FUREd MEEB A Aela<| 1 2 4|1 2 6T a4 FIAL:
|" f 'I'I_ ] |_|:
23
| B
4
20
3 15
4.17
Options :

485584157349. 1

485584157350. 2
485584157351. 3
485584157352. 4

Question Number : 894 Question Id : 48558439339 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ3

A matrix Fof order 2 = 3 wath each enfry 0 o | and s a scalar wluch s 3 o 4. Tt B = oA, then mamber of
matnces B foomed 15

o

2

4127

Options :

485584157353. 1
485584157354. 2
485584157355. 3
485584157356. 4

Question Number : 894 Question Id : 48558439339 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ3

2+ 372 T 0 e P e i U o 311 A o UE R E S WA )
alg r - o 81 3 FT aregel v @ 9= ant

L &3
2,54
A 128
4. 127

Options :

485584157353 1 collegedunias
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485584157354. 2
485584157355. 3
485584157356. 4

Question Number : 895 Question Id : 48558439340 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

|Kev |Value

IComDrehenqion IMCO3

If F¢x) 15 @ bmchion wloch 15 derivable tn an mterval 1 containing 2 podnt ¢, then mateh List 1 with List 11

LIST I LIST 11
171 has second order derreaiee anx o ;
A [ canch thar () = 0 sad ey <0, | 1 [pomt of aflexion af
L flah
fiven
E (e cesaary ponditicn for poimx = ¢ ol proxint of Lecal
v be exireme pomt of Flxkis mimm af £ ix
f 1) dicess mor cldwire 415 2030 B X = :
T krosses the poant © = ¢ then 1t L3 1L |, e a. erigical ok cad

fled a Fix

F_'l 1 haz s=cord order dermeative an
]

o i pont af local
mmsigng of §(%]

-

= ¢ such dhar Mz} and F ) = 0
hen

Choode the coitect anawer frow the eptions given beloa:
1. A-IV, B-1. C-II0, D00
2 801 B-I, C.I1L D=TV
3 A-I1 BN C-L -1V
4 ATV, BT, C-I, DI

Options :

485584157357. 1
485584157358. 2
485584157359.3
485584157360. 4

Question Number : 895 Question Id : 48558439340 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3
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Tl ) T afard 1 s Ua i o wite & & smdori wee & | o et 1@ @ e e

Gaik Gl
l'{::a'-_H - E:'Efﬁ?—“‘ﬂm-:ﬁﬁr
THHFR ¢ [ i =| L [ & AfeaEdy &y

AR i) <0 FE
é i 09 B TR 45

i ﬂﬁ_'r]ﬂim Iﬁ‘@:
& T T £
E“ﬁ.’l;;mi*ﬁq‘éﬁ“”” (2 T I g

Ao B, A9 TR JrIE
EETAT R "

ik Wla = O Iod e o .
D[RO 5 WO B 4T e [V “'é!-ﬂ'IWFﬁﬂaﬁTa
S i) . T Fity

v o 7 e & Tl R
L A-TVB-I C-II0 T-I1
2, A=l Bel, C=IIf, D[V
3 ALIL B-IIL Caf. D[V

4. ATV, B-IIL -1, DT

Options :

485584157357. 1
485584157358.2
485584157359. 3
485584157360. 4

Question Number : 896 Question Id : 48558439341 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
|Key |Value |
|Cump1 chension |MCQ3 |

e

e

I
| —
Ifr =1.!b.r,' T4y hxg o+ 1':I|l\.ll_.:.1 +u g+« then 1= :

1 e e

2 |'I:3|.—||

1

(=]

-1

3 —_——

; ||J|—||

|
x{y=1]

Options :

485584157361. 1
485584157362.2
485584157363. 3
485584157364. 4

Question Number : 896 Question Id : 48558439341 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1 g

-

collegedunias

India’s largest Student Review Platform



Question Key Detalls :

Key Value
Comprehension MCQ3
[ - R
03 »= -'|:I|'i_'_' ralong s o Jlogr+ glog r ol —1
elv
L ir| E¥ -1
o ik
i
= I\.-I: _"_l.'—ll
3, —
x[y=1l)
Options :

485584157361. 1
485584157362. 2
485584157363. 3
485584157364. 4

Question Number : 897 Question Id : 48558439342 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key 'Value
Comprehension MCQ3

The praes per vnit of & commaodity produced by a company 13 given by P =92 - Ix®, whers x i& the qusntity
.:_:|_-'|_.:|.|¢|| T'_|-1.- | IRT __g||!.|| FEVEILE Of |::||:||:|||.-\.'||_|l__' 5 LHIT= |I:I$I'H:|'| i | -\':'|_I|:||'|:¢-c'|||'_l:.. '\.|'|:'||| |

].2E

e b

24

Options :
485584157365. 1
485584157366. 2

485584157367. 3
485584157368. 4

Question Number : 897 Question Id : 48558439342 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ3
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T B0 E T U o] &1 Ui 9 G P = 02 - o, 3 FAOT T 31 29 N # e
TRl & 315 - T Eiai e g

L. 28

ks

1]
3.3
4. 44

Options :
485584157365. 1
485584157366. 2

485584157367. 3
485584157368. 4

Question Number : 898 Question Id : 48558439343 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Vatue
Compretension MCQ3

For the fimetion fix)= 2¢°" + 10, wiach of the tollowing 1= the ot appropsts optica

1. The mumummm vahse of £15 14

L ¥

f bas mo i posaitle valos

e

f hos Do mininnm possible value

4. £ has netther mexzmum o maminnm posstble value.

Options :

485584157369. 1
485584157370. 2
485584157371.3

485584157372. 4
Question Number : 898 Question Id : 48558439343 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

uestion Key Details :
Key |Value |

|unup1 chension |1V1LQ3 |

T i) = 26 + 10 % T 0 A9 1 990 SUE we A -
1, 357 G H 105
FPT TS Sl o Hua R

[ B

Ll

TP A O HyE T R

-

£ &9 =7 1 HfSiEw s = 8 T 5 94E §

Options :
485584157369. 1
485584157370. 2

485584157371.3 collegedunias
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485584157372. 4

Question Number : 899 Question Id : 48558439344 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3
Iyl w e pof 14 x =i x = v, then value of i : . :41'1' atx =11
i ot
1.0
2
|
=
3, ——
b |
1
&, =
H
Options :

485584157373. 1
485584157374. 2
485584157375.3
485584157376. 4

Question Number : 899 Question Id : 48558439344 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3

Uﬁ 'r'\:ﬁ =5 \_'m - [L.X =_'.'.3..| r-ll_,: |I'E.tl- Eﬁl =] q:\. :I:'%

'y Fil g

Options :

485584157373. 1
485584157374. 2
485584157375.3
485584157376. 4

Question Number : 900 Question Id : 48558439345 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Il(ev |Value |
|C0mprehensi0n |MCQ3

nia:
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For a discrete random vanable X, whose probability distibution 15 defined s

i:.ﬂzll.-ll. =0, 1
Pir)= iEx: LE

]

| k(f—xh; =X

The value of mean will be
]
7

15

P

b
-1 |1

i
I

Options :

485584157377. 1
485584157378. 2
485584157379. 3
485584157380. 4

Question Number : 900 Question Id : 48558439345 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
IKev |Value |
|C0mprehension |MCQ3 |

TF HEA TTe=s =1 X & fy, fwet mirea 427 g0 TEn g

|26s 1] s 1

Pc)=+ M r=Z
| k(5—xh; a=3

& T = 9F 8

e
Fl
]

P
[

|5

T

11
4
-

Options :

485584157377. 1
485584157378. 2
485584157379. 3
485584157380. 4

Question Number : 901 Question Id : 48558439346 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 .
collegedunias
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Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ3

Conmder the following staternents with respect to probakality disinbuobions:

Al When e (1) = 1 and stamdard deviation (6] = 0 for & dota se1. soemal distnbution & called stamdard
normanl distiabution

B. In n nommal dastmbution of dain, z s given I.1:|-'-'—'"'-_+II

P aneeeas] 18 e (v = 17 s in the boonsial expansion of {q + pi®

[, [ & random experiment. o eolleetion of wiale i ealled Bernonlls, of triale are dependens by nanse,

E. Whew a taindom vamables whiess value s obtainsd by measaring and it fales many values batwesn tao

valwes, it e called o continnons random vaanble,
Choese the comest auswer from the options given below:
1. Cand E only
2. A aoad B ondy
3. Band C only

4. C o D el

Options :
485584157381. 1

485584157382. 2
485584157383. 3
485584157384. 4

Question Number : 901 Question Id : 48558439346 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3

i @24 & 42y A FafEes webl w fEn S

A, T BTET = A, T8 71 () = 1 37 A BT (o) = 0, FHES #2 T A SR g2
ETARE IR

B, HFE F WA A Y 2« = L gRIRI T B

¢ (g pio i fus AR 1 v < 1) 0798 &y SoEE &1

D, U5 UTeTaad WO, GO &1 9= S See ¢ o mum 1o 8 i g

E. 51 U= TRl =% R 5 B9 i R = ¢ 40 98 5196 F 99 959 9 967 o 8 0
T O e T

et fom o fereeit o & HEt SO T w0 wa
L. %8 C HITE
2 Faq A TR
3 g B dRC
4. Fdd C AN D

Options :
485584157381. 1

485584157382.2
485584157383. 3 gco”egedunlaé
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485584157384. 4

Question Number : 902 Question Id : 48558439347 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key 'Value
Comprehension MCQ3

A dee 15 throwm n tooes. A random venable X denotes the number of times, the vumber on the dice 15 greater
than 4 ad PEX = 11 = 2P(X = 11, The value of n ks

4.5

Options :
485584157385. 1

485584157386. 2
485584157387.3
485584157388. 4

Question Number : 902 Question Id : 48558439347 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ3

U U 1 &1 ekl 70T | U OTEaE =1 N U T 4 9 4 o fe A e 2 & i e
I RX =1) =KX =2, Mo FHARE:

a
St

4. 5

Options :

485584157385. 1
485584157386. 2
485584157387.3
485584157388. 4

Question Number : 903 Question Id : 48558439348 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ3

% collegedunias
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Twao balls are chosen rmndomly from an wm eomtnamng & white and 4 black balls e o player, Suppese thet he
wine T30 for sach black ball selected and losss 115 for each white ball selected. The expected valus of
Vel ArHnt 15

L. 21272

| E¥]
#H
—
-

a
]

ol
e |
—
N

Options :

485584157389.
485584157390.
485584157391.
485584157392.

B S

Question Number : 903 Question Id : 48558439348 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

tion Key Details :
Key |Value I
Comprehension MCQ3
| | |

T Tl g UF a4 fags s 9Fe 3i11r4ai'r-ﬁn3? 2l *EUIEF‘:IE—hEﬁ-rr?ﬂ%mmrﬁm
I 115 o - W 07 T8 130 T 91 1 Wl® 90E g - - OF 215 §F o ] i) T8 108 6
W Hed B

L. T12.72

2. F14.72

El5

T

4. 200

Options :
485584157389. 1
485584157390. 2

485584157391. 3
485584157392. 4

Question Number : 904 Question Id : 48558439349 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3

collegedunias
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Conmder the following stafemments

A Caat of livieg at bvo differsmt cities can be comparsd with velaine mdex.

B. When the prices of rbee ase 1o be compased we use prics uplex

C.In Laspeyre's preee mdex mmsber weaglit 15 eoasidered ag pidce in cument yeu
[¥. Parchasing power of money can be msessed through comssmumer prace index.
E. Fisher Index numnber is called ideal index number

Choese the comest anower fvain the options given belaw

1. Aand B only

2. 8. D and E cady
3 A B md Conby
4. Conky

Options :
485584157393. 1

485584157394. 2
485584157395. 3
485584157396. 4

Question Number : 904 Question Id : 48558439349 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ3

B G e R g o o

A =) i wiet  Sfie o &t SiE #1 ge ST gads gr o )
B. 5 =10 3 vl o e ot e &, o B e e W e ¥

. WHITE 0] gadiE 0 YR, 919 84 § 00 § &0 8 9 0 £

D. Tl i & fe IOt e I6 i a1 Pl o a2

E. AW 1 STEH] W avEl wial &

Fet fegm Tt o 4 el T o1 50 i -

1. Fg0 A B

2 Faa B, DANE

3 HUMA B AN C

4. dEE
Options :

485584157393. 1
485584157394. 2

485584157395. 3
485584157396. 4

Question Number : 905 Question Id : 48558439350 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Vatue
CUlIlpl UhCIlbiOH IViCQS

~

-
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Mloteh List T with List 11

LIST I LIST 11
Parshall Edpewart's Index Eﬂ'h-
AL L & =10
L e E,Pr_ﬁ'u =
B [Lespeyrs's Index Mumber it %ﬁ ﬁ—xlﬂu
. [Fisher's Ideal Ind=x Number [IL IH' iﬁ = )
; oy
. T i Y
T, Damche's ndex Musmber e PILLCIRE I
E.-”{-'. i oy )

C'haose the camect ansiver fom the pplions given belosy:
1, AL, B-IL G-IV, DA
1 A Bel Call DRI
3. AL BTV, C.III, Tl

4. A-IL B-1, C-I1, -V

Options :

485584157397. 1
485584157398. 2
485584157399. 3
485584157400. 4

Question Number : 905 Question Id : 48558439350 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ3
et 1w g 1 # o afifen
el T I

A [ATiE UATd TRl 1

B [0 g i

-T-.'T!'l' & 1{m
1 : f.'-'ﬁ"l
c [Fes @ el geste |m mx]ﬂﬂ

Poy
D. [0yl FeEE o Pt (40 +4 100
g > g +ay)
trrfirtia fimmet o & |Et Gw o a0 Pt -

[ AL B-IL O T-I
1. ATV Bel. C.-[L D-I11
3. Al BV, CaIIT, T2l

4. A-TL B-1 C-T1 D=1V

Options :
485584157397. 1

~

-
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485584157398. 2
485584157399. 3

485584157400. 4

Question Number : 906 Question Id : 48558439351 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Vatue
Comprehension MEQ3

Conmder the table below on the quantities of conunodiftes alongside their prices in the year 2020 and 2022,

| Pr';::ﬂ,{! |:I'I.I.H.I:IEI!.'|
Comenodity [a 2000 (2032 $a 2050 o 2002
| Yeur Yeon (renr Yen
i, 1 d 3 1]
I A
i 5 2 | 5
D 4 3 1 3
_E ] 1 1 5

Tl vahie I:I!-E:'Iq.l:l i

1. 40
b
3. 73
4.97
Options :

485584157401. 1
485584157402. 2

485584157403. 3
485584157404. 4

Question Number : 906 Question Id : 48558439351 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
COompr chension MCUS
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A1 Fiferan T2 fAar & o aegall & o awl g 2oz0 397

Iq_EI_H%qr-l 7 AR
38 2000 7 [@9 2022 9 (99 20209 [ 20229 |
A | 7 5 [
B 3 1 3 1
T 3 g ] :
o i g 1 1
E 3 2 3 &
e T HA 2
1. 40
2,55
373
4.97
Options :

485584157401. 1
485584157402. 2
485584157403. 3
485584157404. 4

y ik
ELLr

# ) w1 At g

Question Number : 907 Question Id : 48558439352 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

'Value

Comprehension

MCQ3

Thee tollowme dadm 1= tken trom 2 sumple modom sample ;

1,789, 1511, 84, 6.2

The poir estimeate of the populacon standard devistio s

[ ]

Options :

485584157405. 1
485584157406. 2
485584157407. 3
485584157408. 4

Question Number : 907 Question Id : 48558439352 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ3
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Fraforian Jfas U uidey oess ufien @ e nd 8

3. 7.5 0 15 11 B 4.6, )

IO T faae & g T o

.
e
3
& 4
L
2 =
x = 3z
- Wt
1
4, =yl
9
Options :

485584157405. 1
485584157406. 2
485584157407. 3

485584157408. 4
Question Number : 908 Question Id : 48558439353 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

|Key |Value |
|L,mupwuension |1V1L,Q§ |
] et h a4 - r.eil )
For a certau data test seatistic 't 15 calewlated as: [¢ | = (—7—{ =150 then select the comect dprion :
vl F

Li=dmpu=0 =1
28 =d5 =08 a=16
Ax=ldin=4,p=3

L ¥=hd =k =14

Options :

485584157409. 1
485584157410. 2
485584157411. 3

485584157412. 4
ggseg(t)ll(l)sne }llglg)efﬂ'zolsh%'lfs[tf&% I%X%éﬁ%?ﬁ?l?é&%lﬁﬁtclggﬂfﬁ& é I:V{)CQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Compr chension MCQ5
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Rareh s o s g leror Wi v o o W s =S58 o0, 1 P 7

| WJES

fawma g
Lr=48ug=0650=14
2 0= u=08 n=1b
3T =18 n=4q =1

. r=hZ%ji=hm=I14

Options :

485584157409. 1
485584157410. 2
485584157411. 3

485584157412. 4

Ruestmn }lnl?g)e&.zol?h%lkes[tll&% I:dN.g%éP8439354 %l%esn?n Tﬂ& é I:V{)CQ Option Shuffling : No Is Question Mandatory : No Calculator : None

esponse inimum Instruction
Correct Marks : 5 Wrong Marks : 1
Question Key Details :
Key Value
Comprehension MCQ3

Suppose that o 5% confidence miterval siates that population mean 15 greater than 100 and less than 300, Then
the valve of samiple mvean (7 and marziy of ey (B} respectively ore:

L1580, =10

2. 100, =[]

3280, =50

4, 200, =[0
Options :

485584157413. 1
485584157414. 2

485584157415.3
485584157416. 4

Question Number : 909 Question Id : 48558439354 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3

T TG o5, PRI S 3 YR FRfT A 100 @ S g 300 3 TR E € O uiteE
HE () 4T 95 Ffe 3 94 (E) A -

L. 150, =104
= 100, =100
3. 240, =50

4, 200, =100

Options : collegedunias
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48308410 /413. 1

485584157414. 2
485584157415. 3
485584157416. 4

Question Number : 910 Question Id : 48558439355 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ3

Shvam takes a boan of T5,00.000 with B% anomal interest mie for 10 vears. Tle vahoe of EMT nnder flat rate

eyshem 1s
1. T4166.67
2 E7500
3, 8331
A FA0A00

Options :

485584157417. 1
485584157418. 2
485584157419. 3
485584157420. 4

Question Number : 910 Question Id : 48558439355 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ3

FHTH 25,00,000 F1 TE H0 5% T106 w003 61 %% 9 10 79 & 60 791 € | 90 3% b6l & d-afa e

it e F A g
1. $4166.67
2,27500
3, 18332
4, FE0000

Options :

485584157417. 1
485584157418. 2
485584157419. 3
485584157420. 4

Question Number : 911 Question Id : 48558439356 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ3
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A mnchine costing 1 one lakh depreciates at consiont mte 10%, Extunnted useful bife of machune is 8 years.

March Lise Twith Lisa I1

Clesosa the sorract answer from the options: @ven balow:

Id

I_JE-T | LIST I
e 3 L g p- ]
A Ii;:vm] depreciscion in *nd and 3nd vesr L |!51.E'II
B. Waloe of machens after oo vear 0 17,100
C Naloe of machme after 2 vears 15 [I[. 43050
[Serap valee of meckine J
I TV |39, 0o
frivem (117" =2 144 & (0.9)° = 04305

A-IL B-TIT, C-TW D1

< eIl BaIW CaIIL DI

AL B-TV. C-L D=0

AL B-LOC-1V -1

Options :
485584157421. 1
485584157422.2

485584157423.3
485584157424. 4

Reoie TR R ThRueiome \N AP a1

Correct Marks : 5 Wrong Marks : 1

ruc

I{esti 101’11‘*1111% :e %CQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Question Key Details :
Key Value
Comprehension MCQ3

TF Tl s &0 UF a5 S 100 Bt 09 39 9 v 181 §) 0 5 #1 aEie oiae e

N
1 F 1 8 T wifen
il T
A [EHE 3 a9 ¥ FE A L [l oo0
B. |1 T &TH 7EE ] HTA I [F17.100
C. [ T OME TE1E S R0 I 43050
Pt o AT W |
D FER g1 =2 144 & (0.9)F = TV [0, 000
SN
e e § @ dtaa m A aiifan
L. A-TL B-ITT, OV, D=1
2, ATl BTV, CWIT0 DuI
Aoa- B-INV_C-1. D-IIT
4, A1 B-1L C-IV. D-IIT
Options :

485584157421. 1
485584157422. 2

485584157423. 3
485584157424. 4

~

-
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Rgse&t)ll(l)sne %?%&e&‘gllzh%‘lﬁt{&“e I%i%éﬁ%?%%&ﬁ%ﬁﬁt&ggﬁf“& i I:VIOCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Lompr chension IVICU)S5

A bond of face vakse 11000 matures 10 10 years and interest is paid anaually &t 4% per anmum, If the presen

valne of the bond 15 2838, find the yield to pnturiny (10457 = 0676

L. 1.6% pa

o My pa

3 :.":"np.'l

4 3% pa

Options :

485584157425. 1
485584157426. 2
485584157427. 3
485584157428. 4

Question Number : 912 Question Id : 48558439357 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : S Wrong Marks : 1

Question Key Details :

|Key |Value

|L,ump1 ehension |1V1LQ.§

21000 HEPa HE A @ 10 T B ORI 9 W § AU FEW 42 W 9H B3R 4 o a0 ) IR @
Bl G AT Hrd 2538 § o) W0 08 W 2 8 (1 04770 = 0,676

[, 1.6% Ty
2,20 WicE
3.2 g%, WiaTY

4. 3.2% WioEy

Options :
485584157425. 1
485584157426. 2

485584157427. 3
485584157428. 4

Question Number : 913 Question Id : 48558439358 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

ompr chension VICU)S
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Cansider the follewing feasible rezron, Whech of the following constrames vepresents the feasible rezion?

i

&  §
1 BN
L J“,
r_f_f" i 'ﬁ“
i’ ' -
A dr+Iv=6
B.r—ly=2
Codr+rly=12
D dr=2y=-1

Exr-2yz-l
Chocse the cormest ansmwer from the options given below:
1. A Cand E only
2. B.Dand E ouly
3, Boand C only

£ A Boand D onky

Options :

485584157429. 1
485584157430. 2
485584157431.3

485584157432. 4
Ré‘seﬁﬁ‘ﬁ’s‘% }'n‘}‘e}’efxrxlfh%‘lfsﬂ&% I%iﬁéﬁ%ﬁ?ﬁﬁ[&‘%ﬁﬁ%&%ﬂ?& é I:V{)CQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
Key Vatue

Compreternsion MEQ3
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e g Saw far = Py d e 4 waiy oo e Fea s g

A Ay + 3yl
B x-2y=1
C.3x+2y=13
B.3x—2y=-3

=

E.¥—3y=-1

1 AT e A A T T
L 3T A C HRE
2 BUE B, D HRE
3 Faa B HARC
4. %0 A B D

Options :
485584157429. 1

485584157430. 2
485584157431. 3
485584157432. 4

Question Number : 914 Question Id : 48558439359 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Vatue

Comprehension MCQ3

The graph of the meguality 3x— Iy = 615
1. HalF plane thet contams crigm

2. Halfl plane that neither comtaing ovgin nor the pomts on the line 5x - Iy =6

3 Whole X0 -plane excluding prims o 2x 3y =6

4. Enire XOY.plme

Options :

485584157433. 1
485584157434.2
485584157435. 3
485584157436. 4
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Question Number : 914 Question Id : 48558439359 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ3

A In— 2y > 6T TE S
1. 1% A for o g amieva 21
2. 4 A fored = ot g g nfoe & 71 8 3 - 2y = s R R Tis fig
3. €10 xoy a9 fad 1x - 3y~ R RE g mimaa
4. = xov 74

Options :

485584157433. 1
485584157434.2
485584157435. 3

485584157436. 4

uestion lalumbp&izllshgﬂ(es[tion I%.ngﬁ84393601%1%esti n e : I:V{)CQ Option Shuffling : No Is Question Mandatory : No Calculator : None

esponse 11me : me : nimum ruction Time

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ3

An eleciric company bas 300 Transistors, 4 Capacitoers ad 500 Inductors. The company wishes o make
lectronic gosds ueing two cueuits A snd B, Baquirement by cireuif 15 35 fallows

| Tranisesror I apacicg e croe |
A 175 30 200 1
B i3 100 300 |

The profit from coromt A and B 15 32000 and T30 respectively then constrains of the LLP based on this datn
Are

B ol B e o P Lt o o | g e i

| 2]

Ty+Sr=ldiz+3p=dily+ Iy dinw>0

My Eliikry=dilr by =5 p =0
d Te+Sr=12 Iy +p=d: Iy +3p e dp w20
Options :

485584157437. 1

485584157438.2
485584157439.3
485584157440. 4

Question Number : 915 Question Id : 48558439360 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ3
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wlﬁmgamﬁﬁimame_m? 400 W= e so0 39 21 30 g sl F ooy A TE B
H HEE W 39T 9] ¢ giadf 97 saeaEa A 5 E -

= GRIEE T
B HE T
B 123 L] e

qiay A TE B § 7T FHSE 12000 3 23000 § 79 59 121 U ST 2 WS- S0 6 og s g

L M+ Sp=12 v +pade e+ 3y 8o il

| =]

Tp+fv=1ix+p=diIx+ Iy =S5 w20

M ThyEldikryErhlatEsiny=i

4 M+l vy =+ Iy S w2l
Options :
485584157437. 1

485584157438. 2
485584157439. 3
485584157440. 4

Sub-Section Number : 2
Sub-Section Id : 4855842953
Question Shuffling Allowed : No

Is Section Default? : null

Question Number : 916 Question Id : 48558439361 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp2

[na LOE0 oo rece, A beats B by 50 meters or 10 ssconds, The time taloen boe A bo complete the race is;
1. 150 secomcs
=, 2 seeonds
3. 190 seconds
4. 250 seconds

Options :
485584157441. 1
485584157442. 2

485584157443. 3
485584157444. 4

Question Number : 916 Question Id : 48558439361 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Lompr chension LompZ
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oo FTF LS HA BT oM piFEdsd s AT s Wam Hamamm g

L, 150 H475
2. 200 FFT
3. 190 HiE
4. 250 HFE

Options :

485584157441. 1
485584157442. 2
485584157443. 3
485584157444. 4

Question Number : 917 Question Id : 48558439362 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp2
A % ."'I "
=4 v=1rthen o att=11s
£ e
5
T
8
=
T
3
L]
B
1&
445
4. —
fd
Options :

485584157445. 1
485584157446. 2
485584157447. 3
485584157448. 4

Question Number : 917 Question Id : 48558439362 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp2
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; ; a1l -
oRi=ddy= =W Y mARE

"o dx”

= |

B-d
i | Fd

'SJI
I

14

44
a4

Options :

485584157445. 1
485584157446. 2
485584157447. 3

485584157448. 4

G . . . . . . ing : . . .
Rgsegolﬁ)& lilnI{lebeTV. Xlﬁh%ll?sltf&% I%i%éﬁ%ﬁﬂﬁ%%%gga%ﬁggﬂ& : I:V{)CQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp2

In n biromoal dastmbution., the probatulity of getting o soccess 15 - pnd the standard deviateon 15 4. Then ats
I ) ] ° F

&AL 1%

o
(=)

g
=

Options :
485584157449. 1

485584157450. 2
485584157451. 3
485584157452. 4

Question Number : 918 Question Id : 48558439363 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension Comp2
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Tt fee Hﬁ?ﬂﬁ*lmqnlmmﬁfﬁmihmﬁ%H‘trm—-ﬁ-g faem 4 R AT T E

Options :

485584157449. 1
485584157450. 2
485584157451. 3
485584157452. 4

Question Number : 919 Question Id : 48558439364 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
|Kev |Value
IComt)rehenQinn ICong |

Fir the given five values 17, 26, 20, 35, 44, the three veams moving avernges or=
B 19.2%. 31
4 L8 R ¥

Options :

485584157453. 1
485584157454.2
485584157455.3

485584157456. 4
gseg(t)lltlls% %‘n“l‘eb?&".xlfh%‘lﬁtf&% l%i%ﬁ%‘fﬁ%ﬁﬁ%‘#ﬁﬁ%ﬁﬁgﬂ& ; I:V{)CQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension CompZ

A A o= AEE B 17, 26, 20, 35, 44 9 i 99 AEa

Options :

485584157453. 1
485584157454.2
485584157455.3
485584157456. 4
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Question Number : 920 Question Id : 48558439365 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp2

A velncle wivose cost 15 37, D0LBI0 wall de|:-|.'-=.:|.n|i: b A scrap value of T1500000 m = yEors L'smg_ linear method

of depreciation, the book value of the vehicle at the end of tird year 15

L 110,000

2 13, 70.000

Lt

£2.70.000

4. E2,30,000

Options :

485584157457. 1
485584157458.2
485584157459. 3
485584157460. 4

Question Number : 920 Question Id : 48558439365 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

'Value

Comprehension

Comp2

U AT5- Forda T 27.00.000 B, § TG # T2H SO@E1 HTEHa T60 21.50,000 81 A0 HTHag- §

T Tofe = v o T 9 O A0 ST w6 e wi -

1,31, 1000Hs
2. 23,70,000
332 70000

4, 32.50,000

Options :

485584157457. 1
485584157458.2
485584157459. 3

485584157460. 4

Group Number :
Group Id :

Group Maximum Duration :
Group Minimum Duration :

Show Attended Group? :

Edit Attended Group? :
Break time :
Group Marks :

Is this Group for Examiner? :

Examiner permission :

Show Progress Bar? :

Physical Education

19
485584900
45

45

No

No

0

200

No

Cant View

No
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